833A/B

Installation Guide

Pal"t S llst (Subject to actual size; each type of screws and washers has one spare)

L

Five wheels

One gas rod

back support

One seat cushion

One backrest

T

==

EEEE

EEE

No this accessory can be ignored

A pair of armrests

Aluminum alloy feet

Four handrail screws

Three backrest screws
(M8*20) (M8%20)

One headrest

©
©OOO0 Peeee
OO0 ePeeee

@

SERE

é

Eleven M8 spacers

Eleven M8 dansuke

Four back bracket screws
(M8#30)

One hexagon wrenches

Note: Before installing the chair, please sort the screws and measure the length of the screws for installation

F @< . .
,\ Installatlon 1CON (Subject to actual size)

9Press the wheel into
thechair leg

ePut the air rod into the
niddle hole of the chair leg

Use 4 M8#30 bracket screws+spring mediat
spacers to connect the bracket to the
back chair, pay attention to distinguish
the front and rear

Use 3 M8#20 backrest screws+spring media
+spacers to connect the backrest to the
seat cushion chassis, pay attention to
distinguish the front and rear

[e]e)
oo

Use 2 M8#20 armrest screwstspring media+

B,
=

No this accessory can be ignored

spacers on the left and right to connect
the armrest to the bracket, pay attention
to distinguish the left and right

Align the upper half of the assembled

chair into the air rod

Insert the head restraint into the seat
back connector and the installation is
complete

0 1 2 3 4 5 6 7 8 9 10 cm
Lobdwtooloo oot bob bt bbb b il

Note: Before installing the chair, please sort the screws and measure the length of the screws for installation




